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RD50-MPW2

Resistivity 1900 Qcm

Non-irradiated

Active pixel matrix

Continuous-reset pixel

Baseline = 900 mV
Threshold = 950 mV and 1000 mV

V. =-100V

bias
Time over threshold proportional to
injected charge




Previous measurements

- Laser Edge-TCT measurements
- External charge injection with pulser
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Setup

Sr-90 holder
LGAD signal
out
LGAD
board COMP out
CMOS pixel
board

MPW?2 board mounted on stages for alignment 4




Measurements
CMOS
COMPOUT
V [mV] |
400 ¢
Thresholds: 300;_ W
200 mV CMOS = ToT
200— - L
-80 mV LGAD =
100—
[}W Gaam i i e
Trigger: - ﬂ
Both channels simultaneously —100— t
over their respective thresholds - a
- Coincidence event —-200
- <«—— LGAD signal
Low rate: ~ 1 event/min _300:_
~4001—
; | ] ] ] | 1 ] ] | ] ] ] | ] ] ] | ] ] 1 | ] ]
0 20 40 60 80 100




~14

|
—
o]

Results

« Red dots represent
averages for 10 ns bins
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Problem with shifted channels in DAQ

 DAQ software occasionally saves duplicate events

* Oscilloscope channels appear to be shifted by one
event when saved in the file
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Attempted correction in analysis
stage — No significant differences
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Duplicate event




Problem with shifted channels in DAQ
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